Canada Post/Postes Canada STARBANK 105-340 COLLEGE ST TORONTO, ON M5T 1SO

GST/TPS#762716280 - Summer 10

2022/06/23 CC105456

SUBTL/SOUS-TOTAL

14:15:18 W/G 1

\$173.12

8 @ \$11.64 \$93.12 \$1.94 BOOKLET-0/S/1,94 \$ CARNET-SURD

2 @ \$7.80 \$15,60 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

7 @ \$9.20 \$64.40 P2020 BOOKLET OF 10/P2020 CARNET DE 10

HST/TVH \$22.51 TOTAL \$195.63 CDN Cash/Espèces CAN \$200.00 CHG. DUE/MONNAIE -\$4.37 RND. CHG./MONNAIE ARRONDTE -\$4.35

6-SUMMER JOZQ

STAPLES Canada Store # 25 Toronto, ON M5G2J5 (416) 598-4818

Sale

00092 2.002 76173 0025 06/26/22 02:53

9999999

BOOKLET ENVELOPES 718103041775 33.19H Subtota1 33.19 4.31 HST 13.00% Total \$37.50 Cash 2.50 Cash Change Thank you for shopping at STAPLES! ************* Share your feedback for a chance to

win a \$1,000 Staples Gift Card!

Text STAPLES25 to 20200 retour de lugi 90, de film et de n Visit staples.ca/survey/25

Std msg & data rates may apply.

THREE CENT COPY CENTRE 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 06-23-2022 13:54 098449

0 04 2275 \$91 00 C/PRINT-B/W X 1 0 35 325 C/PRINT-COLR T \$113 75 X1 0 10 325 FOLD&STAPLER T \$32 50

> \$237 25 TA 13% \$30 84 HST

\$268 09 ROUND \$0.01 \$280 00 CASH \$11 90 CG

CAN#27- FALL 2022

Canada Post/Postes Canada STARBANK 105-340 COLLEGE ST TORONTO, ON M5T 1SO GST/TPS#762716280

2022/09/26 CC105456

13:52:19 W/G 1 SOOMI

7 @ \$9.20 \$64.40 P2020 BOOKLET OF 10/P2020 CARNET DE 10

8 @ \$11.64 \$93.12 \$1.94 BOOKLET-O/S/1,94 \$ CARNET-SURD

4 2 @ \$7.80 \$15.60 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

SUBTL/SOUS-TOTAL HST/TVH

TOTAL

POSTAGE

\$173.12 \$22.51

\$195.63

CAW #27 - FALL Jo22 STAPLES Canada Store # 234 Toronto, ON M5C1S8

(416) 203-3525

00097 7 007 31208 0234 09/23/22 01:59

30.79

4.00 \$34.79

40.00

9999999

Sale

1 OB QS 5-7/8x9-5/8 10

718103140850 Subtotal

HST 13.00%

Total Cash

Cash Change
Thank you for shopping at STAPLES!

> Text STAPLES234 to 20200 OR Visit staples.ca/survey/234

Std msg & data rates may apply.

CAN#27-FALL 2022

THREE CENT COPY CENTRE
732 SPADINA AVE
TORONTO ONT M5S 2J2
TL 416 923 0542

878538446R70001

REG 09-26-2022 13:29 102876

2275 X1 0 05 C/PRINT-B/W T \$113 75 325 X1 0 35 C/PRINT-COLR T \$113 75

> TA \$227 50 HST 13% \$29 58

TL \$257 08

ROUND \$0 02

CASH \$260 10

CG \$3 00

FALL 2025 - 77

ENVE BOTTAGE

TOTAL COSTS: \$528.55

CAN # 28 - WINTER 2022-3

Canada Post/Postes Canada STARBANK 105-340 COLLEGE ST TORONTO, ON M5T 1SO GST/TPS#762716280

2022/12/05 CC105456

13:56:26 W/G 1 SOOMI

2 @ \$7.80 \$15.60 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

8 @ \$11.64 \$1.94 BOOKLET-0/S/1,94 \$ CARNET-SURD

\$64.40 7 @ \$9.20 P2020 BOOKLET OF 10/P2020 CARNET DE 10

SUBTL/SOUS-TOTAL HST/TVH POSTAGE

\$173.12

\$22.51

\$195.63

COVER ARTIST FEE \$29.50

CAN # 28 - WWTER. 2022-3 STAPLES Canada Store # 25 Toronto, ON M5G2J5 (416) 598-4818 00092 2 002 18412 0025 12/09/22 02:45 ************ *For items purchased between November 1st* * and December 24th, 2022 we'll gladly * * provide you a refund or exchange your * * purchase until January 15th, 2023 or 14* to 30 days** from purchase date, whichever is longer. See product specific returns policy for more information For more details head over to www.staples.ca/returns ************* KRAFT ENVELOPES 718103140843 27.99 Subtota1 3.64 HST 13.00% \$31.63 Total Cash 41.65 10.02 Cash Change ***** CAN \$28 - WINTER 2022-3 **** Sh THREE CENT COPY CENTRE 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 12-13-2022 15:16

106580

2275 X1 0 05 C/PRINT-B/W T \$113 75 X1 0 39 C/PRINT-COLR T \$126 75

> 13% \$31 27

ROUND CASH \$282 00 CG \$10 25

CAN #29 - SPRING 2023

Canada Post/Postes Canada STARBANK 105-340 COLLEGE ST TORONTO, ON M5T 1SO GST/TPS#762716280

2023/03/10 14:45:27 SOOMI CC105456 W/G 1

7 @ \$9.20 FLIGHT BKLT 10/AVIATION CARN 10

H 50 @ \$1.94 \$1.94 COIL - 0/S/1,94 \$ ROULEAU-SURD

2 @ \$7.80 \$15.60 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

\$177.00 SUBTL/SOUS-TOTAL \$23.01 HST/TVH \$200.01 TOTAL POSTAGE CDN Cash/Espèces CAN. \$200.00

Store # 25 Toronto, ON M5G2J5 (416) 598-4818

Sale

00092 2 002 39896 0025 03/15/23 01:07

9999999 WHITE CATALOG ENVL 718103140850 35.29H 35.29 Subtota1 4.59 HST 13.00% \$39.88 Total Cash 40.00

0.12 Cash Change Thank you for shopping at STAPLES! ************

Share your feedback for a chance to win a \$1,000 Staples Gift Card!

Text STAPLES25 to 20200 OR Visit staples.ca/survey/25

Std msg & ' tes may apply.

732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 03-27-2023 13:55 110997

X1 0 37 \$116 55 C/PRINT-COLR T X1 0 05 2205 C/PRINT-B/W \$110 25

> \$226 80 TA HST 13% \$29 48

ROUND \$0 02 CASH \$260 30 CG \$4 00